
Pounds and Pence

1. Identify the total shown below. 4. Draw £7 and 69p in the purse, using 

one note and no more than nine coins. 

Find and write one more combination.

2. Choose the two amounts that have an 

equal total. 

5. Niall buys a pizza but drops sauce on 

the receipt.

He pays using a £10 note and 3 silver 

coins.

What could the pizza have cost?

Find 3 different possibilities.

3. Circle the notes and coins that will 

equal the amount shown in the box. 

6. Freya has the coins below in her purse. 

She says,

Is she correct? Convince me. 
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£________ and ________   p

A. 

B. 

C.

Using these coins, I can 

only make £4 and 60p 

in two different ways. 

Receipt

Large pizza

£10 and          p



Pounds and Pence

1. £13 and 76p

2. B and C show an equal total of £5 and 22p. 

3. Two £5 notes, two £1 coins, two 20p coins, one 10p coin and two 1p coins.

4. Various answers, for example: one £5 note, one £2 coin, one 50p coin, one 10p coin, 

one 5p coin and two 2p coins; one £5 note, two £1 coins, three 20p coins, one 5p coin 

and two 2p coins.  

5. Various answers, for example: £10 and 60p; £10 and 30p; £10 and 15p

6. Freya is incorrect because there are more than two different ways of making £4 and 

60p using her coins. 

Various answers, for example: Two £2 coins, one 50p coin and one 10p coin;

One £2 coin, two £1 coins, two 20p coins and two 10p coins;

One £2 coin, two £1 coins, one 20p coin, two 10p coins, two 5p coins and five 2p coins.
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